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Warm up:
1) Solve forx: logz x+logz(x—2)=1

N(A-2)= 3 @, X}él (X must be dmﬂ'r Hen 2>

1*-2%-3=0
( X=3)(x+1)=0

2) Find a and b given that nagh _ 1 and i 0
: ! o) 3b+1 A Sh |
& n3b, - I\ -(hw) 59"
A4 bnd 37,73 =3° >  -a-b73
h+3bs= - =0 -b-1= 2 2b=2 = A+3=-

I
Example 1) 4 ~bs 3 @

The weight of a radioactive substance remaining

after ¢ days is given by W(t) =2200 (4)_'005t grams.

a. What is the weight remaining after 6 days?

W) = 2300 (4) 74 pamse 4 auo gres.

b. After how long with the remaining weight be 100 grams?

| -0.005 } = 10332 R |
oo = 2200 (&) 3 005 logiy ° b b deys
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Example 2) A P ( I T “'"') P "ﬂ nvested Aumu.Q IMW
a) Stan has $5000 invest in an account that pays 5.2% annual interest rate compounded almual!y Find how
long (nearest month) it will take for her 1nv;'s-tment to reach $20,000. he #- s ‘{\ lom p0 (
20,088= soeo-( |+ 0.052) bo g5 of yrS
g - Jo 3 Y4

b) Stau has $5000 invest in an account that pays 5.2% annual interest rate compounded monlhty Find how
long (nearest month) it will take for her investment to reach $20,000. =

W {71 + o.osz>11)r
() o
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o= nfp 3 f R0 s A 320 menths
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